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Discussion and Decision
1      Introduction

The following agreements were made related to measurement event for NR in RAN2#101bis meeting:

=>
Offline to conclude whether the SpCell or all serving cells are not considered as the neighbour cells for Event A4 and A5. (Offline discussion #37, Ericsson)

=>
For Event A6, the frequency should be different from the frequency used by the PSCell (assuming we resolve how to determine the frequency of an MO)

This contribution is to check what is in LTE and suggest the way forward for NR.

2      Discussion
During last meeting, it was discussed whether serving cells should consider only SpCell or all serving cells for event A4 and A5. Below shows all A’s events from current specification:
Event A1:
Serving becomes better than absolute threshold;

Event A2:
Serving becomes worse than absolute threshold;

Event A3:
Neighbour becomes amount of offset better than PCell/PSCell;

Event A4:
Neighbour becomes better than absolute threshold;

Event A5:
PCell/PSCell becomes worse than absolute threshold1 AND Neighbour becomes better than another absolute threshold2.

Event A6:
Neighbour becomes amount of offset better than SCell.
Event A4

The argument of including SCell in the neighbour cells in A4 event is for load balancing. However, network can configure event A1 for that purpose.
Observation 1: Event A1 can be configured to report an SCell above a threshold for load balancing purposes.

Proposal 1: In Event A4, neighbour cell refers to all non serving cells (i.e. not PCell, PSCell and SCell) on the frequency indicated in the associated measObjectNR.
Event A5

It was discussed to follow LTE and make the NR specification clear. Below shows the LTE specification in section 5.5.4.1 in TS36.331:

5>
for events involving a serving cell on one frequency and neighbours on another frequency, consider the serving cell on the other frequency as a neighbouring cell;

From the specification in LTE, neighbouring cell include serving cells when serving frequency and neighbouring frequency are not the same. Therefore, for event A5, neighbour cells should include SCell if they are on different frequency. However, for simplicity, maybe we can agree event A5 as proposal 2 below. This way, we don’t have to consider frequency. 
Proposal 2: Agree “Event A5:
PCell/PSCell becomes worse than absolute threshold1 AND Neighbour or SCell becomes better than another absolute threshold2.”

Other events

There are discussion to clarify all current events so there is no confusion in NR specification. Therefore, we would like to propose the follow for A events:

Proposal 3: Agree the following rewording for A events:

Event A1:
Serving (includes PCell, PSCell and SCell) becomes better than absolute threshold;

Event A2:
Serving (includes PCell, PSCell and SCell) becomes worse than absolute threshold;

Event A3:
Neighbour becomes amount of offset better than PCell/PSCell;

Event A4:
Neighbour becomes better than absolute threshold;

Event A5:
PCell/PSCell becomes worse than absolute threshold1 AND Neighbour or SCell becomes better than another absolute threshold2.

Event A6:
Neighbour becomes amount of offset better than SCell.

Note: Neighbour cell doesn’t include any serving cell.
3      Conclusion 

Observation 1: Event A1 can be configured to report an SCell above a threshold for load balancing purposes.

Proposal 1: In Event A4, neighbour cell refers to all non serving cells (i.e. not PCell, PSCell and SCell) on the frequency indicated in the associated measObjectNR.

Proposal 2: Agree “Event A5:
PCell/PSCell becomes worse than absolute threshold1 AND Neighbour or SCell becomes better than another absolute threshold2.”

Proposal 3: Agree the following rewording for A events:

Event A1:
Serving (includes PCell, PSCell and SCell) becomes better than absolute threshold;

Event A2:
Serving (includes PCell, PSCell and SCell) becomes worse than absolute threshold;

Event A3:
Neighbour becomes amount of offset better than PCell/PSCell;

Event A4:
Neighbour becomes better than absolute threshold;

Event A5:
PCell/PSCell becomes worse than absolute threshold1 AND Neighbour or SCell becomes better than another absolute threshold2.

Event A6:
Neighbour becomes amount of offset better than SCell.

Note: Neighbour cell doesn’t include any serving cell.
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